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Problem One (20 %)

Solve the following system of differential equations.
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Problem Two (20 %)

Solve the following partial differential equation.
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Problem Three (20 %)

Solve the following differential equation.

y"+ y = tan(x)
Hint: Isec(x)dx = lnlsec(x) + tan(x)l +C

Problem Four (20 %)

Find the inverse of the following matrix.

-1 1 16 2
0 01 4
0 01 6
0 1 1 -3

Problem Five (20 %)

Find the first three terms in a power series expansion about x = 0 for a general solution to the

following differential equation.
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